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QUESTION 1: THE FARM MANAGEMENT INFORMATION SYSTEM 
 
1.1 1.1.1 Net sales value (market value less marketing cost)   
 
 1.1.2 Net sales value   
 
 1.1.3 Estimated production costs or  expected net sales value, 

whichever is lower. 
  

 
 1.1.4 Conservative market value   
 
 1.1.5 Insurance value   
 
 1.1.6 Lowest of either the purchase price or market price 

(6 × 2) 
  

(12) 
 
1.2 • To recover the capital that was invested in an asset over its useful life 

• To determine the annual book value of an asset for balance sheet 
purposes.                                                                                          (2 × 2) 

 

  (4) 
 
1.3 • To know the size (area and capital investment) of farming enterprise 

• To know the costs and income of farming. This helps in determining 
profitability and growth in net worth 

• To know how efficiently each product is produced and reason for high or 
low efficiency.                                                                                   (3 × 2) 

 

  (6) 
 
1.4 1.4.1 • Cash 

• Investments 
 

  (2) 
 
 1.4.2 • Basis/how on which assets should be valued 

• Method of calculating depreciation and depreciating assets to 
determine the continuous value of assets                       (2 × 2) 

 

  (4) 
 
1.5 1.5.1 
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=

=

=

 

 

  (3) 
 
 1.5.2 Year 1: D = BV × R 

                = R250 000 × 0,2 
                = R50 000 
 
Year 2: D = BV × R 
                = R200 000 × 0,2 
                = R40 000 

 

  (6) 
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 1.5.3 BV = CP × (1 – r)y 

      = R250 000 × (1 – 0,2)2 
      = R250 000 × (0,8)2 
      = R250 000 × 0,64 
      = R160 000 

 

  (4) 
 
1.6 • The realization values of most assets do not decrease in value by the 

same amount every year 
• The asset is not necessarily used to the same extent each year. (2 × 2) 

 

  (4) 
 
1.7 1.7.1 Initial value = Cost price – accumulated depreciation   
 
 1.7.2 Initial value = Estimated replacement value – accumulated 

depreciation 
(2 × 2) 

 

  (4) 
 
1.8 • Number of employees 

• Service contracts 
• Salaries and leave 
• Advances and debts                                                                     (Any 3 × 1) 

 

  (3) 
   [50] 
 
 
QUESTION 2:  PRODUCTION ECONOMIC PRINCIPLES 
 
2.1 2.1.1 Production function indicates the relationship between various 

quantities or amounts of a specific output and a specific input, 
while other inputs and conditions remain constant. 

  

 
 2.1.2 Marginality refers to a change (an increase or a decrease) in one 

factor as a result of change in another factor, that is, what 
additional or extra income or loss would, for example, result from a 
change in input. 

 

 
 
 2.1.3 The law of diminishing marginal returns states that, as additional 

units of a variable input are applied in combination with one or 
more fixed inputs, the marginal returns will eventually start to 
decrease. 

(3 × 2) 

 

  (6) 
 
2.3 2.3.1 Initially the total product (TP) increase at an increasing rate and 

then start to increase at a decreasing rate. It is irrational 
because the average product (AP) constantly increases. It 
implies that the additional production which was achieved 
through the application of additional nitrogen is higher than AP, 
which causes the new AP to increase 

 

  (8) 
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 2.3.2 In this phase the total production curve still increases at a 

decreasing rate until it eventually reaches a maximum, where the 
rate of increase equals to zero. In this phase, AP starts to 
decrease from point B throughout with any change in an input 
application. MP curve also decreases, it lies below AP curve. 
The most efficient input application and most profitable production 
occur in this phase. This is a rational phase. 

 

  (6) 
 
 2.3.3 The total production (TP) curve starts to decline; the MP curve is 

negative as a result of a drop in the total product. Even if it had 
been possible to add extra inputs free of charge, it would be 
useless because one additional unit result in an absolute drop in 
yield. The production in this phase is irrational. 

 

  (5) 
 
2.4 2.4.1 

2.4.2 
2.4.3 
2.4.4 
2.4.5 
2.4.6 
2.4.7 
2.4.8 
2.4.9 
2.4.10 

True 
True 
False 
False 
False 
True 
True 
True 
False 
True 

(10 × 1) 

 

(10) 
 
2.5 2.5.1 Average product = Total product 

                                 Input level 
 
                            =  1 350 kg/ha 
                                 60 kg/ha 
 
                             = 22,5 kg canola/kg phosphate 

 

  (5) 
 
 2.5.2 Marginal yield = ∆total product 

                           ∆input level 
 
                        = (1 350 – 910) kg/ha 
                              (60 – 40) kg/ha 
 
                         = 440 
                             20 
 
                         = 22 kg canola/kg phosphate 

 

  (6) 
 
 2.5.3 • Price of input 

• Price of output                                                               (2 × 2) 
  

  (4) 
[50] 
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QUESTION 3: THE FARMING BALANCE SHEET 
 
3.1 3.1.1 Net worth   
 3.1.2 Insolvent or bankruptcy   
 3.1.3 Movable assets   
 3.1.4 Financial structure   
 3.1.5 Foreign capital 

(5 × 2) 
 

(10) 
 
3.2 • To serve as basis for negotiating with the providers of loan capital 

• As an aid to scientific decision-making (management of the farm) 
  

  (2) 
 
3.3 Value of leased land is used in calculating the total foreign capital.    (2) 
 
3.4 3.4.1 

 

Outstanding account at NTK 3 000 
Bank overdraft at ABSA 30 000 
Total R33 000 

 

  (3) 
 
 3.4.2 

 

Balance 5 years purchase agreement with 
Standard Bank R80 000 

  
  (2) 

 
 3.4.3 

 

Balance of bond at ABSA for land bought R400 000    (2) 
 
 3.4.4 Current + medium-term + long-term liabilities 

= R33 000 + R80 000 + R400 000 
= R513 000 

 

  (3) 
 
 3.4.5 Total assets – total debt 

= R1 094 500 – R513 000 
= R581 500 

 

  (3) 
 
 3.4.6 Total liabilities = R1 094 500    (1) 
 
 3.4.7 

 

Electricity account paid in advance  6 000 
Weedkillers in store 2 000 
Cattle feed purchase but not used 10 000 
Positive bank balance at Standard Bank 35 500 
VAT owed to the farmer by receiver of revenue 20 000 
Debtors  6 000 
Total R79 500 

 

  (7) 
 
 3.4.8 

 

Deferred bonus payment funds R25 000    (2) 
 
 3.4.9 

 

Sugarcane plantation on the land for ten years 20 000 
Office equipment 25 000 
Tractor  130 000 
Total R175 000 

 

  (4) 
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 3.4.10 

 

Kraals and fences 50 000 
Land purchased 750 000 
Renovation of the buildings 15 000 
Total R815 000 

 

  (4) 
 
 3.4.11 Total assets = R1 094 500    (2) 
 
 3.4.12 Value of leased land = R500 000    (1) 
 
 3.4.13 = R815 000 + R500 000 

= R1 594 500 
 

  (2) 
   [50] 
 
 
QUESTION 4: THE FARMING INCOME SATEMENT 
 
4.1 • Sheep sold, money not received yet 

• Ewes bought on credit by the farmer 
• Sale of wool to BKB 
• Sheep slaughtered for the labourers 
• Sheep slaughtered for domestic use 
• Value of sheep at the end of the year 
• Value of sheep at the beginning of the year 
• Unsold wool stock at the end of the year 
• Unsold wool stock at the beginning of the year 

130 000 
-10 000 
30 000 
4 000 
2 500 

270 000 
-250 000 
10 000 
-30 000 
156 500 

 
 
 

 

(10) 
 
4.2 • Bales of lucerne sold                      160 000 

• Bales of lucerne fed to sheep           30 000  
                                                                    190 000  

 

  (4) 
 
4.3 GPV (sheep) + GPV (lucerne)  

= 156 500 + 190 000 
= R346 500 

 

  (5) 
 
4.4 • Wages of permanent labourers            48 000 

• Sheep slaughtered for the labourers     4 000 
• Protective clothing for labourers             5 000 

                                                                       R57 000 

 

  (5) 
 
 
4.5 • Fuel stock at the beginning of the year      4 000 

• Fuel stock at the end of the year               -2 000 
• Fuel purchase during the year                  12 000 

                                                                               14 000 

 

  (5) 
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4.6 • Fuel costs                                                                 14 000 

• Veterinary and medicine                                           20 000 
• Depreciation on improvements and equipment       32 000 
• Maintenance of vehicles and implements                35 000 
• Labour costs                                                            57 000 
• Costs of other farm expenses                                    9 000 
• Bale of lucerne fed to sheep                                    30 000 
• Electricity                                                                 50 000 

                                                                                           247 000 

 

(10) 
 
4.7 NFI = Total GPV – Total production, Marketing and admin costs 

       = 346 500 – 247 000 
       = 99 500 

 

  (5) 
 
4.8 FP = NFI – Foreign capital (interest + rent paid for land) 

      = 99 500 – (15 000 + 20 000) 
      = 99 500 – 35 000 
      = 64 500 

 

  (6) 
   [50] 
 
 TOTAL:  200 
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